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1) This exam is out of 70

2) This paper has ions: i i i ns (MCQ) (20 marks), Section

II: Short answer ion III: Long answer question (LAQ)
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SECTION I: MULTIPLE CHOICE QUESTIONS (20 MARKS)
1. Melanocytes have genetic instructions for insulin sequencing but they cannot

synthesize it because: -
A. The anatomical location of cell determine function

B. The genes in the DNA determine functions

C. Mutation determines functions of genes
D. Suppressers and expressers in cell de
2. The likely explanation of a patient
with 5 % dextrose is: -

A. Glucose is not osmotica

station of numbness, tingling, pain during

fats in the neuronal cells. The likely defective

plasmic reticulum
B. Ribosomes
C. Lysosomes

D. Centrioles
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. One of the follo

. Single file flow occurs in: -
A. Arteries

B. Veins

C. Ventricles

D. Capillaries

. A patient with renal disease has a dysfunctional handling of potassium leading to an

increase in potassium levels in blood plasma. This isilikely to increase: -

A. Refractory period

B. Hyperpolarization

C. Repolarization

D. Calcium efflux

. The following electrolyte h brane potential
of excitable tissues : -
A. Potassium

B. Calcium
C. Sodium
D. Chloride

example of primary active transport: -

ng is an intracellular buffer : -

A. Chloride
B. Bicarbonate
C. Phosphate
D. Magnesium

. Isotonic solutions : -

A. Have higher osmolarity than blood plasma
B. They have lower osmolarity than blood plasma

C. 10 % Sodium Chloride is an example
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D. Have same osmolarity as blood plasma

10. The mRNA translation: -
A. Comes before transcription
B. Takes place at granular endoplasmic reticulum
C. Takes place at Golgi Body
D. It is the final process of protein synthesis

11. Meiosis : -

A. Take place only in somatic cell
B. Results in two diploid cells

C. Recombination of DNA material tak ace
D. Recombination of RNA

12. Clotting factor IV : -
A. Is thrombin
B. Itis charismas factor

C. ltis calcium

15. Mannitol is an important marker of: -

A. Intracellular compartment
B. Transcellular compartment
C. Extracellular compartment
D.

Intravascular compartment
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16.

17.

18.

19.

20.

One of the following is an example of innate immunity: -
A. B-cell

B. T-cells

C. CD-8cells

D. Microphage

Gaseous exchange takes place first in: -
A. Terminal bronchioles

B. Respiratory bronchioles
C. Alveolar
D. Trachea
Hyperventilation results in
A. Rise in oxygen carriage
B. Fall inp.H.

C. Riseinp.

. Neutroph
D. CD-4 cells
The third heart sound is caused by: -

A. Closure of mitral and tricuspid valve
B. Closure of mitral and pulmonic valve
C. Rapid ventricular filling

D. Slow ventricular filling
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SECTION II: SHORT ANSWER QUESTIONS (30 MARKS)

1. State three (3) functions of mitochondria (3 Marks)

2. State five (5) components and function of cell membrane (5 Marks)

3. Outline five (5) the cells that are formed by colony lymphoid progenitor cells

(5 Marks)

4. State five (5) functions of respiratory system (5 Marks)

5. Outline five (5) steps involved excitation-contracti i (5 Marks)

6. State five (5) components of conduc (5 Marks)

7. Draw a labelled diagram of a t icate the

different phases (4 Marks)

SECTION III: LONG ANSWER O (20 MARKS)

1. Feedback mechan
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